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AET-1

General English

1. Select the correctly spelt word.
(A) Foriegn (B) Foaurth
(C) February (D) Foward
1. (C) February (n) (39 1 A A&
ik Spelling%l
2. Select the most appropriate option to

fill in the blank and make a grammatically
correct sentence.

IfT thatyou were coming over,
I would have cancelled my programme.
(A) know (B) knows

(C) had known

2. (C) ‘had known' &1 WATT BRN, &ifh
qrHd unfulfilled condition of past

=

3. Select the most appropriate word for the

(D) am knowing

given group of words.

An animal that lives by killing and eating
other animals

(A) Amphibian  (B) Prey

(C) Predator (D) Quadruped

3. (C) Predator (n) (YRSTawEl, &H® Ug))
&I T group of words & oI |&T
o T o fowadl & wea—aref
T— Amphibian —STef¥eleTdax, Prey
R, Quadruped — AR e |

Direction (Question Nos. 4 to 8)

In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most

appropriate option for each blank.

Throughout the ages, birds have been a source
of wonder to all who have (1)  their
soaring flight or listened to (2)  sweet
songs. As a group, birds are (3)

They are the only creatures covered (4)
feathers. This evolutionary development (5)

__ birds from all other animals.
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Tl YT-94

Select the most appropriate option to fill
in blank No.1.

&)
®)
©
{5

claimed
verified
observed
supported

4. (C) observed &I TART Ha&l i
5. Select the most appropriate option to fill

in blank No.2.
(A) them (B) its
(C) their (D) they

5. (C) 'their' T T & & |

Select the most appropriate option to fill
in blank No.3.

(A) mundane
(C) indifferent

(B) unique
(D) ordinary

6. (B) unique (adj) =T T TE |
7. Select the most appropriate option to fill

in blank No 4.
(A) on (B) at
(C) with (D) from

7. (C) with &1 YA W& ¥
8. Select the most appropriate option to fill

10.

in blank No.5.

(A) 1is separated

(B) has been separated
(C) separates

(D) was separated

(C) separates (V) '3l B bl TANT
|8 B

Identify the segment in the sentence
which contains the grammatical error. If
there is no error, select “No Error’.
Sushmita’s youngest sister is not only
beautiful but even intelligent also.

(A) buteven intelligent also
(B) 1s not only beautiful

(C) No Error

(D) Sushmita’s youngest sister

(A) 'but even intelligent also' & ¥IF TR
but also intelligent <1 WA E?I"]T
i 1 notonly ........... but also
& structure X STEMRT & |

Select the correctly spelt word.

(A) Wadnesday  (B) Worthwile

(C) Wayther (D) Weird

ver fofer : 19-8-2019 (W2rH urel))

10

1

11.

12.

12.

13.

13.

14.

14.

15.

. (D) Weird (ady) (ST 9 STclifhap) A&
Spelling%l
. Select the most appropriate antonym of
the word.
APPLAUD
(A) Cheer (B) Criticize
(C) Praise (D) Clap

(B) Applaud (v) (STl IR STFAIGH
YHe BIAT) BT FEl antonym &—
Criticize |

Select the most appropriate option to

fill in the blank and make a grammatically
correct sentence.

[ wasn’t feeling well yesterday, but I feel

alittle  today.
(A) more better  (B) best
(C) better (D) good

(C) better &1 GINT BT, Hfd a little
better T 312f ¥ (2lreT T 37e87) |

Select the most appropriate option to
substitute the underlined segment in the
given sentence. If there is no need to
substitute it, select No improvement

A little carefulness can have averted the
accident.

(A) canaverted

(B) could have averted

(C) could have avert

(D) No improvement

(B) could have averted (HeHT <lell ST
Tl o) B AT B |

Select the most appropriate word to fill

in the blank and make a meaningful

sentence.

It’s a venue for every occasion and one

that offers _ meals on special

days.

(A) offensive (B) amusing

(C) thrilling (D) delightful

(D) 'deilightful’ (ST =YS) T YT HEr
Bl

Select the most appropriate option to
substitute the underlined segment in the
given sentence. If there is no need to
substitute it, select No improvement



15.

16.

16.

17.

17.

18.

18.

19.

19.

20.

I had to reconsider my decision as going
to Syria might been dangerous.

(A) had to be (B) might have been
(C) may have (D) No improvement
(B) 'might have been 1 YT (ST FHI
N orquf |EATEET (unfulfilled
posibility) @ Iqam & forg fan
ST B | 3 feey (B) 98 1
Select the most appropriate word to fill

in the blank and make a meaningful
sentence.

Winning both the races has been a
surprise, but the success is
well deserved.

(A) satisfying

(C) civilized

(B) pleasant (adj.) garl, AT<adDb
P AN FE B

Select the most appropriate meaning of
the given idiom.

(B) pleasant
(D) charming

No strings attached

(A) Without conditions or restrictions

(B) Forced to do something

(C) Involving a choice to be made

(D) Lacking clarity

(A) No strings attached (IDM) b1 el
T—(femT i T 31 ) &1 ey
(A) |4 B

Select the most appropriate synonym of

the given word.

ABANDONED

(A) Continued (B) Adopted

(C) Initiated (D) Deserted

(D) Abandoned (adj.) (YRS, 34T
T B U BU | T A7 Bl g3)
1 HE synonym ®— Deserted |

Select the most appropriate meaning of

the given idiom.

When pigs fly

(A) A difficult situation

(B) An argument between two people

(C) A practical idea

(D) A time that will never come

(D) When pigs fly IDM) &1 37ef &—
YR UREH § S S BT |
I faped (D) 98 T

Select the most appropriate antonym of

the word.

Congested
(A) Cleared (B) Crowded
(C) Choked (D) Crammed

20.

21.

21.

22,

22.

23.

23.

24.

24.

25.

(A) Congested (adj.) "HIe—¥Tg dT<
el g wEEd YR B GE
antonym ®— Clear |

Select the most appropriate synonym of
the given word.

ADVANTAGEOUS

(A) Unlucky (B) Adverse

(C) Favourable (D) Crucial

(C) Advantageous (adj.) FEI%, START,
FATHETIS . BT synonym & —
Favourable | 87 fderedl & vreg o1ef

T— Adversefl;ﬂ%!@, a'\s;g, Crucial

- IAYE Heayol, Fomge |
Identify the segment in the sentence
which contains the grammatical error.

After a heated argument they went to
their respective place.

(A) they went

(B) After a heated argument
(C) respective place

(D) to their

(C) respective place & T UY
respective places &1 YT 81T |
Select the most appropriate option to
substitute the underlined segment in the

given sentence. If there is no need to
substitute it, select No improvement

While the teacher was scrutinizing the
sums, Swaminathan was gazing on his
face.

(A) gazeon

(B) No improvement

(C) gazed at

(D) gazing at

(C) gazing on & ¥IF W 'gazed at' &
AN B |

Select the most appropriate word for the

given group of words.

A large crowd of people intent on causing
trouble or violence

(A) Mob (B) Procession
(C) Spectators (D) Audience

(A) Mob (n) I8’ (ST ST AT F< &
BRI Fadl & | A ™ Group
of words @I W&l faheT &1

Identify the segment in the sentence

which contains the grammatical error.

Ram cannot withdraw all his money
unless he does not give a prior notice.

(A) all his money
(B) Ram cannot withdraw
(C) aprior notice

(D) unless he does not give

25. (D) unless he does not give & ¥ TR
'unless he give' bl TR BT, Fifh
unless ¥4 # Negative word ¥l

AT fgw Td qDHeIfh

26. I fAf¥=q @e 991 9, RAW' &1 'TIN'

ferer S, NET' @1 'SHG' foran i,
T P H, 'WATER' &1 39 foreir ?
Ifin a certain code language, ‘RAW” is
written as ‘TIN’, “NET’ is written as
‘SHG’, how is “WATER’ written in that
code ?

(A) GHTIN
(C) NIGHT

(B) TINGH
(D) NIGTH

26. (C) iS4 v,

L

T I
< UBR,

et
O~

Qle—=
= | ¢—

T
[N T

27. afe ff¥=a @re w11 §, EXECUTIVE!

B EVITUCEXE' § S fopar W 31
9 94 9 § 'MAUSOLEUM' &1 3%
e HTT ?

Ifin acertain language, ‘EXECUTIVE’ is
coded as ‘EVITUCEXE’ then how is
‘MAUSOLEUM’ coded in that language ?

(A) AUUCOSLMM
(B) MUELOSUAM
(C) MUELOSUMA
(D) ALUEOSUMM

27. (B) 59 v,

EXECUTIVE — EVITUCEXE

PSS

S YD,
MAUS OLEUM —_—> ELO SUAM

YR | 51



28.

28.

29.

29.

30.

52

&N S BT I BINIG I =l
qgEen A geAfag (?) @ gRenfiq
FM—

Select the letter cluster that will replace
the question mark (?) in the following
series.

ACEGI, BDFHJ, KMOQS, ? , UWYAC,
VXZBD

(A) PQRTV (B) LPRTV
(C) TUVWX (D) LNPRT
(D) o TR,

A C E G I
+1l, +1l +1l +11, +1l

B D F H 7

U w Y A C
Hi Hl ‘”l “l ‘”l

V X 7z B D
<4 9IR,

K M O Q S
ﬂi ﬂl Aﬂi Aﬂl ﬂl
L N P R 1]

Il ff¥=re Hre 9o H, 'BHAT &1 '2819'
foran S, 99 SO A A CCDGH
9 forer ?

If in a certain code language ‘BHATI is
written as ‘2819, then how will ‘CDGH’

be written in that language?

(A) 3478 (B) 8437

(C) 3487 (D) 7348

(A) o ToR,
oLl
2 8 1 9

(STIST qUMHTET | S1ERT BT FHID)
T TFR,

Ll

®: &g B, C, D, F, G 8k H SR &I
3R g Fva vH e Y ¥ SO ¥ B
IR CTPNBR R ISEIF, CD I
TEI YR ID, BAR HS a1 § Y31 B |
Six persons B, C, D, F, G and H are sit-
ting in a row facing the north. B and C are

I AGRAWAL =XAMCART

30.

31.

31.

32.

sitting at the ends. F is sitting second to
the left of C. D is adjacent to both B and
H.

F& 9= 9 G &1 v &1 &7

What is the position of G with respect
toF?

(A) T SR /Immediate right
(B) T 9Ri/Immediate left

(C) 91 g¥R1/Second to the left
(D) SR §3R1/Second to the right

(A) I &1 o FrTaq &
B D H F G ¢C
N O |
G, F % g3 =’ a1 &1

e &1 99 Pifore foad &1 718 epfa

e ¥ (g B e T )

Select the option in which the given figure

is embedded. (Rotation is not allowed)

N

w| B o
(© @ ) %
(A)

faweg (A) HT TG H U2 P
ffa &1
e -+ T ered ', T o1 !, T aef
IR T e T 10 < 5+ 3 —
2+3=7

If “+>means “—, *—" means ‘<’ *+’ means
‘+”and “x” means ‘+’, then 10 x 5+ 3 —
2+3=27
(A) 5 (B) 21
(C)53/3 (D) 18
32. (A +—— —
— —— X
+— 5+
X —y =

10x5+3-2+3

gl 1 gRafkid &1 |,
=10+5+3x2-3
-2+6-3
-8-3
=5

33. faped &1 T HINT ST @ R el

33.

34.

34.

35.

B U0 BT B HAIW P9 § e B
oY YT BT IS TG T Y|

Choose the option that most closely
resembles the mirror image of the given

Figure when mirror is placed at right side

<>ﬁ
=
4 )
A) | € B) ¢
(A) A\ B) A
J) J)
C & D 0]
© “ D) N
©
Oﬁ ﬁ<>
= =
TS MHfd AR SHhT

gfe B =2 &R BUT =43 99 BOSS = ?
If B =2 and BUT = 43 then BOSS = ?

(A) 36 B) 59
(C) 55 (D) 57
(C) B——> 2 (3T quiHTa H 78R &

BHHIE)

B U T
b,

(ST qUMETAT A SeRT B pHIh
3 A1)

< TR,

L1l

2+ 15+ 19 + 19 = [55]
fasheq @1 =g HITT 1 AN g | ST

TR T &, FoRT Ueh g™t ug ueel
S § FErEd T

EIESIEETRC o I NI G S

Select the option that is related to the

third term in the same way as the second

term is related to the first term.



35.

36.

36.

37.

37.

38.

Genuine : Authentic :: Mirage : ?

(A) TIEH/Reflection

(B) URIfa¥g/Image

(C) ¥H/Illusion

(D) < ¥&IM/Hideout

(C) 19 &R, ar<iids 3Gel B &,
S YR AR 9 BT B

AT BT A BT S Fr=ferad e

A yfag (?) & v @ giaReud ax

Hbh—

Select the number that can replace the

question mark (?) in the following series:

2807, 1400, 697, 7, 171, 84

(A) 697 B) 84
©) 371 D) 346
(D) S B HH T &

2807 1400 697 171 84

1 M M M M 4
(-7+2) (-6+2) (-5+2) (4+2) (-3+2)

P & b THS B AIgT A HH AR
org T | s W I HT BT T
T S fr=feriRaa offest A famar
¥ | I8 BTN Wie™ & 915 e fa T ?

The sequence of folding a piece of paper

and the manner in which the folded paper
has been cut is shown in the following
figures. How would this paper look when

unfolded ?

=<

(62V) a@ @:} ®) ﬁﬁ> Gﬁ

gl ~E3

(C) IS BT S & ¥ 4 Tie IR,

3 63 -]

31 W™ TR 3TTHHT fadhed (C) ST
g @ 31
2 13 Yot o1 areTs BT IR ampfy
B T HINTT ST S0 YeAfg (?) @Y
TfRenfid &7 9o |

38.

39.

39.

40.

Study the given pattern carefully and se-
lect the figure that can replace the ques-

tion mark (?) in it.

>

?

@A)

©

(A) faeg (A) FT Spfa e Sepf
BTG HRAI 2 | 3 fawed (A) w8
2l

IR, AR W T T, S YR T

arfed ¥—

‘Lion’ is related to “Cub’ in the same way

as “‘Cow’ is related to

(A) ¥BS1/Calf

(B) #HAT/Lamb

(C) =S &I Fedl/Foal

(D) &% & 9<dl/Joey

(A) 19 YR IR & 9= Pl 9P Fedl
FE €

& T fawmedl | 99 8INE o1 98 HifoTY

o1 frferRag anf & $a 98 Sy @&

e aRar &—

A, TP, SifehH |

Choose the Venn diagram from the given
options which best represents the rela-
tionship amongst the following classes :

Fishes, sharks, dolphins

&)

B)
o QDO
» (9o

41.

41.

42,

42.

43.

HEIT 1 T DI Sl FATARET gt
A yfag (?) & v @ giaReud ax
Hbh—

Select the number that can replace the

question mark (?) in the following series.
-1,5,23,59,119,209,?

(A) 409 B) 309

(C) 335 (D) 289

(C) FEen &1 ¥ fetad &—

-1 5 23 59 119 209 (335
LM M AN AN M4
+6  +18 36 +60 90 +126
LA A A A A
+12 0 +18 24 430 +36
LA MM A
6 6 +6 46

M W B 3+, @ BT A & BT
e} '/ R 'S I e T T 200 & 5
(@)3820#5="

If “#> means “+’, ‘@’ means “4aIl’, ‘&’
means /> and ‘$” means ‘" then 200 & 5
@3820#5="?

(A) 105 (B) 100
(C) 85 (D) 120
A #—+
@—>
&—>/
$— -
200&5@3$2045
g @ W W,
=200/5%x3-20+5
=40%3-20+5
=120-20+5
=100+ 5=105
B 2 A, B, C, D, E 3R F s &l 3K
HE HRd U TABR I & IR AR I3

EIA, B® SR GART 8| B, C & 91 g
EIB,E® TN T8 S EID,EAC S
foma 78 Yoaq1 B E D R I DA
Joq T ?

Six friends A, B, C, D, E and F are sitting
around a round table facing the centre.
A sits second to the right of B, E sits
second to the left of C. B doesn’t sit

YR | 53



43.

44.

44.

45.

45.

54

adjacent to E. D does not sit opposite to
E or C. Who sits to the immediate left of
E?

(A) A (B)D
() B D)C
(A) B
D/F
C A
D/F

B
A, E® g3 99 991 B

g <1 A, B, C, D iR E¥ &R BRIl
S STe—37e HMd 6 I | B& SR C
&I PR A Tl oY, AP E P PR A FH
TN M A FR DH HR F 70 0
THfh C B DR | A Tl o0 | fpaen
P e e T o ?

Five friends A, B, C, D and E bought cars
which were priced differently. B’s car
was costlier than C’s car but was less
costly than E’s car. A’s car was costlier

than D’s car but less costly than C’s car.
Whose car was the 2nd costliest ?

A E ®B) A
< B O C
(C) TRIFER,
E>B>C
C>A>D
3d:
E>B>C>A>D
B & B A9 R AL BR 5

el @ T9T e o fferReaa
Al H 3Tl JIRA ?
Select the figure that will come next in

the following series:

o A Qe O
A A

O O A ap
O A O

A B

()EDJ ()A o
A 5p ohl A

(C)O (D)O

(D) YA® 3T PRI H I—F B b
SEHRET fawoRTa ST T 9]a

I AGRAWAL =XAMCART

46.

46.

47.

47.

48.

T ETAT (A) PRI T Tl TS
faem & 3 9¢ & &1 e STl
i faded (D) 1
IEA4+5=413R10+12=244T9 6 +
8=17
If4+5=41and 10 +12 =244, then 6 +
8 =7

(A) 200 (B) 88
(€) 96 (D) 100
(D) S TR,

@R+ (52=16+25=41
(10Y2 + (12)° = 100 + 144 = 244
S YPIR,
(6)> + (8> =36 + 64 = 100
Ty T 2= I Sl TR 78 | S
PR FRIfEd &, ford TR g8%1 U8 Tedt
TS § wEhEd ¥
Select the option that is related to the

third term in the same way as the second
term is related to the first term.

CINQ : EKPS :: FRGS : ?

(A) HTIU (B) HITU
(C) ITIU (D) HTUI
() 9 g,
C I N Q
+2l +2l, +2l +2l,
E K P S
T IR,
F R G S
+2l +2l +2l +2l
lH T I U |

N B A W | SHS 918 A sy
[ 3R [T T ¥ | 3! B B 9
AT R | el & T dsg qedi 9§ fi @
fofs &R -1 frad Fegar

qfEd W F SRV PRl & ?

Two statements are given, followed by
two conclusions numbered I and II.
Assuming the statements to be true, even
if they seem to be at variance with com-
monly known facts, decide which of the
conclusions logically follow(s) from the
statements.

DY /[Statement :

L ¥ Ao fead ¥ /Al tables are
books.

I &+ 99 fHare 2 1/All pens are
books.

48.

49.

ﬁﬁﬁ‘ﬁ/Conclusions :
I $® 99 97 ¥ 1/Some tables are

pens.

. %o f&ad 97 E1/Some books are

pens.

(A) ®aa FIsHs 11 STER0T HAT
¥ I/Only conclusion II follows.

(B) ®9a sas 1 IgAv0T ST
T I/Only conclusion I follows.

(C) a1 T frspd 13 11 SgaRoT Fall
S I/Either conclusion I or conclusion
IT follows.

(D) QT sy [ SR 11 SRR aal

%I/Both conclusion I and conclu-
sion II follow.

(A)‘ é
il ar

IEXIC]
B B I T o paer ey
I STRRYT ARl

R W Pl IR fredt B e

TR SR oy dfe -1 e

TqfHs ©T A AR Bl & ?

Read the given statement and conclu-

sions carefully and decide which of

the conclusions logically follow(s) from
the statement.

M T Ig@T o1 B oI 9RA § daat

B T F qRAl D SAART & S

ATy |

Only white colour vehicles should be

allowed in India for promoting peace.

HY[Statement :

I Al 1 % ared Wi Bl ST <
¥ 1/Blue colour vehicles promote
peace.

[ 9B TS dqTEA M D Ieral o
T 1/White colour vehicles promote
peace.

(A) Baer By T SRl Hxar B/
Only Conclusion I follows.

B) Bad By 1 IFEROT BT B/
Only Conclusion II follows.




(C) 71 < Ty 191 &7 11 STgaRUl el
S I/Neither conclusion I nor conclu-
sion II follow

(D) A1 A e [ AT I SIgER0T HRal
kS I/Either conclusion I or conclusion
IT follows.

49. (B) §%& W1 & dTe 1T 1 98197 &
¥ | gHIfere 9Ra F enfa &7 Jerar
o B o0 g SrgAfa & W
<MY | & Paet Frpy 11 STFHROT
EG

50. APy &1 T7 HIRTT &) IR U5 F S4GT

ARE FHIFE & o TR GuRT Us Ugel
uE W g g

Select the option that is related to the
third term in the same way as the second
term is related to the first term.

147:1597 :: 167 : 9
(A) 276
(C)176

50. (D) iS4 UahIR,

147 —> 159

B) 143
D) 181

| 4
+12
SN YBR,
167 R — 181
| M
+14

HAT-111

51. WsY A TR0 SF @1 10 5O A W [
T UIST B SF B 12 0 H AR
T1TIEY C g EH BT 16 FUS H Wiell IR
HHAT & | T LT Gas 8 IO Wi
T ¥ 3R U137 A 8k B g8 1099 91
IR A oW &1 fomm g 91e g8 <
|l & SR ?

Pipe A can fill a tank in 10 hours. Pipe B
can fill the same tank in 12 hours. Pipe C
can empty the full tank in 16 hours. All
the pipes are opened at 8 : 00 A.M. and
Pipe A and B are closed at 10 : 00 A.M.
After how much time from starting will
the tank be empty ?

(A) 590 52 T4/ 5 hours 52 minutes
(B) 5¥we 24 fFe/5 hours 24 minutes
(C) 4 9ve 30 fMe/4 hours 30 minutes

(D) 49we 8 fiMe/4 hours 8 minutes

51. (A) Tricky method :
48 9.

+ 4.8/,
+ 4/,
-3/,

A— 10H.
B— 129.
C—> 16H.

2 HUC | T H I U
=(@48+4-3)x2
=58x2=11.6¥X

11.6 e 9 & 9 C gI]T ETel!

BT A T T

11.6

= 7:3.86*61%

FA AT =2 +3.86 = 5.86 ©C
=5+.86WC
=5 52 e
52. TP TR I BT AT T TGN

g D AT F A G B 9E SR

Yo <A o we: 399 SR 6 9

I I H SR 1 I T, T9 qg D

Rie S T ?

The volume of a right circular cylinder is

3 times the volume of a right circular cone.
The radius of the cone and the cylinder
are 3 cm and 6 cm respectively. If the
height of the cylinder is 1 cm, then what
is the slant height of the cone ?

(A) J13 ¥/ 13 ¢em

(B) 4¥H1/4 cm

(C) 5¥91/5 cm

D) 15 ¥/ 15 cm
52. (C) faar ®

1
wlh = 3><§75r22h2

”12h1 - rzzhz
6°x1 =3 xh,
=36 =9,

h, = 4 991 (I B

12:42+32
1 - 25 =5%0

53. T8 g & HA A T 1440 IR g
@ T 1800 B | &9 iR & &7
Cost price of an article is ¥ 1440 and its

selling price is ¥ 1800. What is the profit
percentage ?

(A) 15% (B) 25%
(C)20% (D) 12.5%
53 B e 0/ — Mxloo
- ® ’ 1440
360 1
~ 2 %100— —x100 — 259
1440 e 25%

54, GO TS WA TS, S 192, 1056 IR
1584 @1 43 e AT 9= H 7
What is the greatest number which can
exactly divide 192, 1056 and 1584 ?

(A) 48 ®B) 56
(C) 44 D) 36
54. (A) HCF (192, 1056, 1584)
192) 1056 (5
~960
96 )192 (2
- 192
X
96) 1584 (16
—9%
624
-376
48 )96 (2
-96
X
48 3N SN T

55. QA x AR B AR 48 T, SR A

IR 6FITdx:y=2

The sum of two numbers x and y is 48 and
their difference is 6. Thenx:y =?

(A)8:9 B)7:6
©9:7 D)3:7
55. (C)

x+y =48
x—y =6
2x =54
x =27

y =21

x:1y =27:21
=9:7

(ST W)
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56.

56.

57.

57.

58.

56

TP SRR BN QT ARl S a9 3: 2%
U # fasfira foman < &1 9f} v
T BT 31 AfF 6 o H I 12 FA
el a1 iy T % 7

A sum is divided between two persons in
the ratio 3 : 2. If one person got T 12 less
than the other person, then what is the
sum ?

(AR 60 B)X 50
(O 72 D)X 44
(A) Tricky method :
3x—2x =12
x =12
Bl gARIRT = 5x
=5x12=%60
T 5000 TR 20% 3ig e Tehglg Tl
WY 299 F AHglg ST T 87
What is the compound interest on ¥ 5000
in 2 years at the rate of 20% per annum ?
(interest compounded half yearly)
(A)T 2340.50
B)T2275.50
(€)% 2290.50

(D)% 2320.50
20
(D) TW- - =10%

THI =2 %x2=47%

(- Srgafes )
5000 (1 +£T
100

1 4
= 5000(1 +—]
10

>
I

5000><E><E><E><E
10 10 10 10

S5x11x11x11x11
10
=7320.5
=TS = 7320.5 — 5000

=2320.5
T HEsl & U 20 171 IR e
weEA # 5B gig B D AR T @ T
U 3 : 2 B A T | HEsh F AN
o7 77

The ratio of two numbersis 2 : 1. If each
number is increased by 5, then the new
ratio becomes 3 : 2. What is the sum of
the numbers ?

I AGRAWAL =XAMCART

58.

59.

59.

60.

60.

61.

61.

(A) 15
(©) 30

(B) 45
(D) 20
2x+5

3
A =2
@A) x+5 2

4x+10 =3x+ 15
x =5.
S BN IRT = 2x + x = 3x
=3x5=15

ADI12.5% =55, ABI A FT & ?
12.5% of A = 55. What is the value of
A?
(A) 480 (B) 500
(C©) 440 (D) 550
(C) Tricky method :

1

ng =55
A =440

12 B @ Sid Mg 14 99 T IR

IS o MY Pl WA F o oy,

o i oy 15 99 B SIRT B | ereas

& MY FAT B?

Average age of 12 students is 14 years. If
the age of teacher is also included, the
average becomes 15 years. What is the

age of the teacher ?
(A) 23 99/23 years
(B) 25 99/25 years
(C) 27 99/27 years
(D) 28 9H/28 years
(C) BIE &1 31Y & AN =12 x 14

=168
S B IAMAA I UX,
=13 %15 =195
JASATTE I MY = 195 — 168
=27 9%
b I el Bl T 36 7 B 9 B
Mer 67 B w F?

The volume of a sphere is 36 cm?®. What

is the radius of the sphere ?

A) 4T /4em (B)29HI/2 em
(©) 59 /5cm (D)3 9H/3 em
(D) e @ AT =36m
4 5
gm’ =36m
r’=9x3
r =3 9.

62.

62.

63.

T TfeTE ane faei # |1 Al &R
I T Y B A P AERR FA B
Tgel 3Y el §RT 99 T g9 H A
3R X qEdTel §RT 9% TR §H & I
B RN AT E ?

The table presents the amount of milk (in
litres) sold by two milkmen in eight days.

fes1/ | wgen SHATl/ | ERT qEdTeT/
Days Milkman 1 Milkman 2

1 28 31

2 34 32

3 38 43

4 37 41

5 53 49

6 58 59

7 63 62

8 67 69

What is the difference between the aver-
age milk sold per day by Milkman 1 and

the average milk sold by Milkman 2 ?
(A) 2 TIex/2 litre

(B) 3 &i1ex/3 litre
(C) 1 &M/ litre
(D) 4 EIeX/4 litre
(A) GE@TeT 1 & S fashr
28+34+38+37+53
_ +58+63+67
8
378
8
= 4725

HATe 2 1 Sl g

31+32+43+41+49
7 +59+ 62 +69
8
=48.25

ST = 48.25 — 4725 = 1 &liex
TP 600 HeX TR o 1200 Hiex T 1
RICHH Bl 36 HHUS § TR HY Gebell B |
2200 HIex T g B b 9 (s
) IR o TP &7

A 600 metres long train can cross a 1200

metres long platform in 36 seconds. In
how much time (in seconds) can it cross a
bridge 2200 metres long ?

(A) 56 ®B) 52

(C)48 D) 44



63. (A) °H &I T

600 +1200
36

1800

=6 50 //9.

< v,

600 +2200
50

2800

50
= 56 HHUS

64. T TIfeTer 1S fas # &1 gedrel gRI

I T Y B A D TRRT FA B

The table presents the amount of milk (in

litres) sold by two milkmen in eight days.

fas1/ | ueem SHATST/ | ST EATeT/
Days Milkman 1 Milkman 2
1 28 31
2 34 32
3 38 43
4 37 41
5 53 49
6 58 59
7 63 62
8 67 69
IR Ter AT ERT gER IR AR
9 T T g B A AR IR TR

THA BRI A9 SR aed i A 99
T HA Y B AA BRITE (B - A)
fepered a7

If A is the total amount (in litres) of milk
sold by milkman 1 in day 2 and day 3, and
B is the total amount (in litres) of milk
sold by milkman 2 in day 7 and day 8
then (B—A) is equal to :

(A) 59 (B) 56
(C)58 D) 57
64. (A)gHaren 19, A
=34 +38
=72 AeX
qyaren 29, B
=62 +69
=131 @lex
B-A =131-72
= 59 @ex
65. T® g1 MR¥Eq WaRw & A )
599 H T 500 &R 795 F T 600 A ST
T FERIT 7 &7

A sum becomes T 500 in 5 years and ¥
600 in 7 years at a certain rate percent
p.a. at of simple interest. What is the
sum ?

(A)3300

(C) %200

(B) T400
(D) 2250

65. (D) Tricky method :

66.

66.

67.

59| =500

7a8H =600

2a9 H =600 — 500
& = 100

. 100
1H§ﬁW:7

=50
599 H &N =50 x5
=250
q9 H{AgT = 500 — 250
=3 250
2-2+2x242 2PI2-2-2+2)H
HH FE ?
What is the value of :
2-2+2x2+2(20f2-2-2+2)?

A4 SR
©)2 1
(C)2-2+2x2+2(4-2-1)
=2-2+2.(1)
=2
el ag @1 99 20% A9 3R 17.5%
A TR W A IR A ST AT g

S I B SR T 1440 B TfE 39 15%
EASILIENEE IS E ISR EE RIS |
BIY

The difference between the selling prices
of an article is 1440, when it is sold at
20% profit and 17.5% loss. What will be
the selling price when it is sold at 15%

profit ?
(A)R4108 (B)4218
(C)R4612 D)R4416

67. (D)FAT  HU A —x

x BT 20% + x BT 17.5%

~ 1440
05 1755

= 700 100
5o

= 100

~1440x100
375

x =3840
15% <19 & forg

— 3840x 1
100

=34416

68. T 21 A 35T ATl TGN BT ABYSS

68.

69.

69.

3R ST FHET: T TP
(ﬁmh:%

What are respectively the curved surface
area and volume of a hemisphere of radius
2l em?

22
[Given T = —]
7

(A) 2772 9§41, 19404 B9 FH1/2772
cm?, 19404 cm?

(B) 4158 I I, 19404 & TH1/4158
cm?, 19404 cm?

(C) 2772 T I, 4158 ©F WH/2772
cm?, 4158 cm?

(D) 2772 T« I, 9702 ©F WH/2772
cm?, 9702 cm?

(A) THYSS B &F = 2nr?
= 2><27—2><21><21

=126 x 22 = 2272 §H?

2
ST - S

— z><2><21><21><21
3 7

=882 x 22 = 19404 HHs
U e & e 45 fHdi/ave &1 225
AR 0 98 Tt w9 (Jpvs A) 4 07
B ?
Speed of a man is 45 km/h. In how much

time (in seconds) will be cover a distance
of 225 metres ?

(A) 24
©)18

®B) 16
D) 22

(C) ST=Hl & a1 = 45><%

5
- SXEZ 12.59/9.

YR | 57



70.

70.

71.

71.

72.

58

2259
7 = 15 59ex

= 18 PTS

A T @M 1 s1abal 10 o 9 Q1 -
HHAT T, TGP TH B T FH BT 15
&7 & 1 I} FEHd T A T WA I
PRI & AR T 2000 FER &1 B fow
Eo

A can do a piece of work alone in 10 days,
whereas B alone can do it in 15 days.
They work together and get ¥2000 for
their work. What is the share of B ?

(A) T1200 (B)T800
(C)T1000 (D) %1600
(B) Ao m%
1 1
= EE =3:2
=3x + 2x = 2000
5x =2000
x —3400
B & fee =2x
=2 % 400 =800

10 el &1 oiTd 14,83 197 <1 ey
5 3R 23 1 AT 13 8IR 269 9 far
g o T e g

Average of 10 numbers is 14.8. If two

numbers 5 and 23 are replaced by 13 and
26 respectively, then what is the new

average ?
(A) 159 (B)13.8
(©)16.3 (D) 14.5
(A) 10 FaTall &1 Sivgd = 14.8 x 10
=148
TG A = (13 +26) — (5 +23)
=39-28
=11
148+11
R e m
159
T 10
=156
e dIferep 3TS fal # |1 gedred g1
I T Y B AN P HERRT FRam B

The table presents the amount of milk (in

litres) sold by two milkmen in eight days.

I AGRAWAL =XAMCART

72.

73.

73.

f&s1/ | g QHATST/ | TR qHarel/
Days Milkman 1 Milkman 2
1 28 31
2 34 32
3 38 43
4 37 41
5 53 49
6 58 59
7 63 62
8 67 69
TR gerdrel §R1 8 &1 # 99 T el gU
1 A1 Yt gUaral gR1 6 farti % 99 T

EECE R PR ACE I RRCNCE L
@ |1 I d) Afeep &7
The total amount of milk (in litres) sold
by milkman 2 in all 8 days is what per-
cent (correct to one decimal place) more
than the total amount of milk sold by milk-
man 1 in first six days ?
(A)55.6 B)57.2
(€)56.8 (D) 589
(A) SHATET 2 §RT 8 T A 5=1 T g9
=31+32+43+41+49 +59
+62+69
=386 TeX
gEdrel 1 gR1 9| 6 & # S=r
MEIREC)
=28+34+38+37+52+58
= 248 TR
386248 y
248
138

= —x100
248

=55.6%
R T s & Ay IR Awftge & "
I T 77
4,6,3,7,10,13,16 8k 5
What is difference between mean and

median of the given data ?
4,6,3,7,10,13,16 and 57

100

o =

A5 B 1.5
)3 D)4.5
(B) 3rad
3 4+6+3+7+10+13+16+5
- 8
=8
Hrfeaer =3,4,5,6,7,10,13, 16
-5 -6

74.

75.

4 122 2 273

3 61 9 1 4(1+1J+1X3
23

o T 8P

What is the value of :

3 61 91 4 1y 1 4
3= — == of =| I +=|+=%x=9
4 122 2 2 3 3) 2 3

B3

39+8+108
12
155

~ 12

. fordfy avg @1 Sifdha 7o % 1500 ¥1 AR

2
165% &1 g & oI < fagd Tea
g7
Marked price of an article is T1500. If

162% discount is given, then what is
the selling price ?
(A) %1000
(O)R1250

(B)Z1300
D) %1150

(C) Taspy Hea = 1500(100—16%%]

= 1500 x % =7Z1250

AT TR

76. SFHE Dl gfte & ARG & fawa A DT

T 8P

In terms of total land area what is India’s
rank in the world in the list of largest
countries?

(A) TArem/4th
(C) wal/6th

(B) d=rdl/5th
(D) Hreral/7th



76.

77.

77.

78.

78.

79.

79.

(D) &=%e 6 3fic | WRa o1 favg &
791 3 T | YR ¥ gl B 99 39
YR T

<9 M
1. %9 el
2. FTSl |
3. |YH T SHRET A
4.9 Aren
5. STt EIECH
6. Srecferar Bl

FHIRAHT AR AT Jpad) fhad grI

fea &7

‘Akbarnama’ and ‘Ain-i-Akbari” are writ-

tenby

(A) HDhgY/Akbar

(B) fSem=E™ §=A1/Ziauddin Barani

(C) 39T Wulel/Abul Fazal

(D) ¥sga SR F&H/Abdul Qadir
Badayuni

(C) SAMET —T —HaR) 1647 IR 6
TS SIS T7 & FO Y A |oe
H foran T ¥ HH sifH @re
JBIRAH S FF W ST el B
3P IR STHEX & Havll H 9
TP ‘g Horad’ T

g # RRerd FureiieaR f&d Tam

PT FHT ¥ ?

Kapaleeswar Temple in Tamil Nadu is

dedicated to which Indian God?

(A) fawp/Vishnu  (B) g1f/Durga
(C) ¥&/Brahma (D) Rr@1/Shiva

(D) HUIRIEaR AR fHelrg g &
T8 § g WA f¥1a iR rdd
o wafid ve gfrg afex B
HIATGER 39 Afex &1 fEfo
HIdd] ITareal & SMHUN Yeald
ST ENT fopam TR erm|

ST X3 e g, R S @ /e
TNT Fehe SIRIAT & U § XA 91y, .
....................... B Y A ST ST &

The percentage of deposits which a bank
must keep as cash reserves with itself is
known as

(A) TR SRR 31U/ Liquidity Re-
serve Ratio

(B) derfes IR STIU/Statutory
Liquidity Ratio

(C) o SR SFJUT/Capital Output
Ratio

(D) TTHa! SARfER U /Cash Reserve
Ratio

(D) sTefeasel H A dhal ol AT
S TR 2007 B3 A R Rord
ep 1 SUTIT AT SUBRUI BT BRI

A B, ST PGl AR U
999 |

80.

80.

81.

81.

82.

82.

83.

s S &1 gE=aed bE ¥ ?

Where is the head office of Vijaya Bank

situated?

(A) ®radE/Kolkata

(B) FTeIR/Bangalore

(C) F¥I$/Mumbai

(D) faeeil/Delhi

B) fafsrar I &1 FeareT TR ¥ 3,
¥ $9@ CEO &R, U. ¥HR
AR |

fod wTed 7 wnf, fRefiexr &R

e & faw 2018 ey M ReaR

ST E ?

Which Organisation has won the 2018

Indira Gandhi Prize for Peace Disarma-

ment and Development ?

(A) fas™ R wafaRor ex/Centre for
Science and Environment

(B) NI SMRT/NITI Aayog

(C) WA & 1w enf=i/Peace for India

(D) s g=ueid/Wildlife International

(A) REM IR R dex 77 2018 #
o ARSI SR e & forg
SRy AT YREPR Ol |

TG G AR wId g 7 -

forftad 9 & e |1 & eIl &l -1

fepar o ?

Members of which National Association

were led by Chandrashekhar Azad and

Bhagat Singh ?

(A) fegwam Fieafawe Rufeas
AU /Hindustan Socialist Re-
publican Association

(B) HRI ISR BN /Indian National
Congress

(C) TSI W91 §E/Rashtriya Sewa
Sangh

(D) HHYRE UIS) 31 i0sAT/ Commu-
nist Party of India

() fegwam wiofae Rufeass
TEINGEE &l Ted ffeRr = @1
TS FR- & Sed ¥ 1% M|
GRTh] AT TR, 1924 4 IR
TWIAAT FATH HHT TAIEIS
e, IR 75 Teoll, TR
SINIS G?R' QI'CTl*g"H?J qTed ?ﬂT%
o YR H B &

RA & URIg 9o & 9= A AfaRad

¥ - gl TAd & 7

With reference to the famous monastries

of India, which of the following pairs is

incorrect ?

(A) TART —HUTTad 9330/ Tawang-
Arunachal Pradesh

(B) @ —f&Araer wewr/Key-Himachal
Pradesh

83.

84.

84.

85.

8S.

86.

86.

87.

(C) wcd — Ffdpa/Rumtek-Sikkim
(D) g+ —\_ﬂrﬁ\—aﬂjﬂ'\’/Ghum-Jammu
and Kashmir
(D) 1. T4 7S — 3FBUMES Yael
2. 1 T {3 — féHTEe gawl
3. wACH WS — ffdwA
4. ¢ WS — U. A
ST — 37T URHIY] T ared ffir aar
& URANY], FAM GO G B 09 A
WM W E—
Atoms of different elements with differ-

ent atomic numbers, having same mass
number is known as

(A) F#ATR®/Isobars

(B) SHeT9UT Y@/ Isohalines

(C) HA¥TE/Isotopes

(D) 3F4/Ion

(A) AT y=Tet AT @l b qd
RATY] T3Teb URATY] S <1 S
A ¥, AfeT ST XA Hie
ST B & | T TRATai Hl
TR Fedl & |

YgHH Herwa b o A FART Sl

T?

Bathukamma festival is celebrated in

which state of India ?

(A) TSTE/Punjab

(B) &I/ Telangana

(C) TR W=EI/Uttar Pradesh

(D) #B8RT~;/Maharashtra

(B) SgHH HEIHd ATl I A
wfeetmall gR1 AR S aTel ud
& U9 wMferare Had & SHIERIT
fafYr & g Fox A KA 7 AR
I 8 | A § IgHH Hl A §
1 A for=T B

Fr=ifeIReT & & D1 TS FaF B TBR

T g ?

Which of the following is NOT a type of

Fungi?

(A) TIREH (FFHT)/Agarics

(B) e/ Penicillium

(C) T 8ieTad/Gonyaulax

(D) TERRTENI/Aspergillus

(C) MHTTH B Blegdy 7 qH)
BHE AT HAG HI TP YHR &

Frafaled § & A1 TP T8 -

T g ?

Which of the following is NOT a coastal

landform ?

(A) f&Arg/Moraines
(B) WYGAC I UBrSl/Sea CIiff

(C) |HI TP /Sea Caves
(D) WS $¥/Sea Stacks

YR | 59



87.

88.

88.

89.

89.

90.

90.

91.

91.

60

(A) TS R fRT IR BIS TR Sas
3 g T T T8 AT Y—HH
ol o A T8 S|

BRI 3feT G &N 2018-19 & faora

PHE?

Who won Hero Indian Super League

2018-197?

(A) XA =ved/Kerala Blasters

(B) T® ¥ MaM/FC Goa

© WW@[/Bengaluru FC

(D) ercfedl & dIaadar/Atletico de
Kolkata

(C) BRI $feT gux <N 2018-19 &
oo €W g% . 9 B

TR F TR 2018 | W&l HT G

WAIH G ATATST BT A 7GG B

92.

92.

93.

wefa fra T N 59 ' @
YA qY WIS a9 & w0 3§ F1R0
I S| TR HiagE 2 99 11 A1
18 71 ¥ s9ax TR ga|

T BT -9 N & Sl A e

R dAAme ?

Exchange of gases occurs through which

part of the plant tissue?

(A) TH/Phloem

(B) ¥9/Stomata

(C) Wirge™/Xylem

(D) 9=af3RT/Midrib

(B) Urell ¥ T GBI HIAVU] F IR
T EF-—YaH § Weld B ¥
A I IR & fHIRT U= 9T W £

S, 2019 & SR B faw B

o fou fr=iferied weom 4 9 foaa

|1y qriER) B ?

Paytm partnered with which of the fol-

lowing institutions to help customers

make insurance premium payments online

in November 2018 ?

(A) FTsCs i1 $TINE/ United India
Insurance

(B) <T3% STORY BURIF/Life Insur-
ance Corporation

(C) SR SRR BT /General Insur-
ance Company

(D) eREcel $TURE HHAT/Oriental
Insurance Company

(B) USIGH J FaHEY 2018 H UEH BT
I DT g SFeTeT B
¥ Hag A & o IS STANY
PRI A & A1 AR 6 |

W AR TR Sel&IETeT fhar S are

Vitamin B ®¥eied feaa faafi=a |

Jad BB ?

The commonly used Vitamin B Complex

is constituted of how many vitamins?

A) 8 ®B) 12

(C) 10 (D) 6

(A) 3IFRIR TR SHTeT 8 aTell Vitamin
B ®reieT 8 faetfiml ¥ freres s
B

ARG HAUM F Fag 991 )1 &9

3T T4 ?

When did the Constituent Assembly
adopt the Constitution of India?

(A) 26 9N, 1949/26th November,
1949

26 STFaRT, 1950/26th January, 1950
26 FdHX, 1947/26th November,
1947

(D) 26 S9a9, 1947/26th January 1947
(A) IR Gfae 26 Ta9E, 1949
wfeas w9 @ 9 wel g™

®
©

I AGRAWAL =XAMCART

93.

94.

94.

95.

95.

Afur 5 = A 3@ w e
As of January, 2019 Agriculture as a sub-

jectis included in which list of the Con-
stitution ?

(A) SraRTe wfdd/Residuary Powers

B) &% ﬁ\_r?[ #/Union list

(C) XT5¥ I H/State List

(D) FHa ﬁ\_r?[ #H/Concurrent List

(C) 9adl, 2019 & AR HY A
| B I FA B SIS @M
TR E

IRd 7 A& 2019 F AMAR fF R

SfEror TRTE Hedier Her™ @1 SAFF

wien AT @1 et W fHar ?

Indialifted South Asian Football Federa-

tion SAFF Women’s Championship for

how many times in a row in March
2019 7?

(A) 9 9R/3rd  (B) B: 9R/6th
(C) IR Ix/4th (D) Ufg 9R/5th

(D) 9Rd ¥ AR 719 2019 7 541 IR
Ti&T TRITE Hedlal Aere &
SAFF Hfeet Jftmfim 1 emw =m
fea |

el B U 3R STaTe et o SifdeR

SO 6T9 F 14 a9 &l Y & 5o 6

e &1 Aferd AfIBR Ta= BT T,

o o & WeR foran T e ?

The Right of Children to Free and Com-

pulsory Education (RTE) Act, which

gives every child aged 6-14 the funda-

mental right for education, was assented
to in which year ?

(A) 2001 (B) 1975

(C) 2009 (D) 1947

(C) Fedi B o SR sfyard R o
PR s T8 6 9% ¥ 14 I
de S seal b Renm @1 Aifere
PR v fHar Siar &, a9 2009
Y R o T e |

96.

96.

97.

97.

98.

98.

99.

99.

100.

100.

ARTG 61 g fom a9 &gy T ?

In which year was the Battle of Saragarhi

fought ?

(A) 1880 (B) 1870

(C) 1897 (D) 1890

(©) IRTE &1 g5 12 R, 1897
Bl ey TRIT J1 AR BT
& A5 RE SR 9 gl oSt
T | I8 FAR-UREH HTIR U
A B At gg ol

T 991 AT 9Tl G g9 e T4y

wRRYTEF?

The largest inhabited riverine island is
located on which river ?

(A) ¥&YH/Brahmaputra

(B) M&rE¥l/Godavari

(C) RT/Ganga

(D) $%M/Krishna

(A) 999 QT IAMEE Tl T« BT
FeAYA 4 IR Rerq Bl

FrferRaa 7 9 T’y IRTeT &1 o1l o
3 B0 H S SIS 2

Which of the following is known as
energy currency of the cell ?

(A) TSR SIEWIvhe/Adenosine
Diphosphate

(B) TSMITHT gR®I¥he/Adenosine
Triphosphate

(C) AR TEwRwe/Glycine Triph-

osphate
(D) TSN Biehe/Adenosine Phos-

phate
(B) DRI &l St H1 & w4 H TSHIRA
TEBIDE B O H ST ST B
SSHI e [REHR 2018 HIHS fher
REHR fHE e ?
Which film has won the IIFA best film
Award 2018 ?

(A) 9\ /Mom

(B) =gg/Newton

(C) &Rl geJ/Tumbhari Sulu
(D) =<8 MfEF/Hindi Medium

(C) STSH fheq JREBR 2018 IS
e qRY ‘RN G =1 i |

1739 # g3l B B g NMGR M8

AR fpara we orsr T ?

The Battle of Karnal in 1739 was fought

between Nadir Shah and whom among
the following ?

(A) S1PSX TME/Akbar Shah

(B) 9eIgR WE WI%R/Bahadur Shah Zafar

(C) ARToIE/Aurangzeb

(D) ¥8™< TM&/Muhammad Shah

(D) 24 BRAY, 1739 BT G HIATA BT
g TRTE IR YeI8 TME & 7L
el T |

aa



General English
| Direction (Question No. L and 2) _|

Direction (Question No. 1 and 2)

In the following question, some part of the
sentence may have Find out part of the
sentence has an error and select the
appropriate option. If a sentence is free
from error, select ‘“No Error’.

1. The regime clear a floor test as a (1)/
result, the courts can still (2)/aside
disqualification. (3)/No error (4).

(A) 1 B) 2
©)3 D) 4

2. Thereby, necessitate a fresh (1)/test in

the basis of (2)/the original strength. (3)/

No error (4).
A1 B)2
(€) 3 (D) 4

Direction (Question No. 3 and 4)

In the following questions, the sentence given
with blank to be filled in with blank to be
filled in with an appropriate word. Select the
correct alternative out of the four and indicate
it by selecting the appropriate option :

3. Twent to congratulate my cousin ...........
his success in GMAT.

(A) for (B) at
(C) in (D) over
4. Japan as well as Philippines ............ hit
by an earthquake.
(A) were (B) have
(C) was (D) are

Direction (Question No. 5 to 7)

In the following questions, out of the given
four alternatives, select the one which best
expresses the meaning of the given word.

5. Tempest :
(A) Calm (B) Quiet
(C) Stillness (D) Storm
6. Vintage:
(A) Inferior (B) Classic
(C) Minor (D) Fresh
7. Tinsel :
(A) Plain (B) Simple
(C) Unftlashy (D) Garnish

Direction (Question No. 8 to 10)

In the following questions, out of'the given
four alternatives, select the one which is
opposite in meaning of the given word.

Yfred Ae—1

8. Defuse :
(A) Disarm (B) Diminish
(C) Lessen (D) Agitate
9. Thwart :
(A) Assist (B) Linder
(C) Check (D) Confuse
10. Copious :
(A) Scarce (B) Abundant
(C) Ample (D) Plenty

Direction (Question No. 11 and 12)

In the following questions, out of the four
given alternatives, select the alternative which
best expresses the meaning of the Idiom/
Phrase.
11. Hit the jackpot :
(A) To find exactly what was sought
(B) In favour of both sides
(C) To help someone silently
(D) The evil intension
12. To bring to light :
(A) To switch on
(B) To remove strains on something
(C) Toreveal
(D) To be able to look beautiful

Direction (Question No. 13 and 14)

Improve the bracketed part of the sentence.
13. The problem is most acute for exporters,
(from whom) the council has now
formed a special committee under the
revenue secretary :
(A) for who
(B) from who
(C) for whom
(D) No improvement
14. An ever-changing policy landscape is
(hard) conducive for attracting
investment :
(A) harding
(B) hardly
(C) hard-on
(D) No improvement

Direction (Question No. 15 and 16)

In the following questions, out of the four
given alternatives, select the alternative
which is the best substitute of the phrase.
15. Literary theft :
(A) Absenteeism (B) Plagiarism
(C) Academicism (D) Adventurism

16. One who speaks on behalf of others :
(A) Salesman
(C) Chairman (D) Superman

Direction (Question No. 17 and 18)

In the following questions, a word has been
written in four different ways out of which
only one is correctly spelt. Select the
correctly spelt word.
17. (A) Haorizontal (B) Horizonetal
(C) Horizontal (D) Horisontal
18. (A) Inconvenience (B) Inconwenience

(B) Spokesman

(C) Inconveneince (D) Inconvineince
Direction (Question No. 19 and 20)

Rearrange the parts of the sentence in correct
order.

19. The economic development plans
P : of energy to remain operational
Q : necessarily required increasing
amount
R : and implemental since independence
(A) PQR (B) RQP
(C) QPR (D) PRQ
20. Salina was:
P : summer camp she
Q : excited about the
R : was attending
(A) QPR (B) RPQ
(C) PQR (D) PRQ

Direction (Question No. 21 to 25)

In the following passage some of the words
have been left out. Read the passage carefully
and select the correct answer for the given
blank out of the four alternatives.
Woman should be given equal opportunity in
education like men and they should not be
.......... from any development activities.
Woman cover almost half the population of
the country which means if woman are
uneducated half of the country is uneducated

which bring poor ......... condition. Through
the women education the social and economic
development will be ........... in India. To spread

the importance and improve the level of women
education all over the country, countrywide
national propaganda and awareness pro-

grammes are Very .......... . An educated woman
can educate her .......... family and thus whole
country.

R | 1



26.

. should not be ........... from.
(A) isolated (B) included
(C) incorporated (D) publicised
. Bringpoor ............ condition.

(A) socio-politico

(B) socio-economic
(C) politico-socio

(D) politico-communal

. development will be ............... in India.

(A) bigger
(C) slower

(B) faster
(D) pace

. programmes are very ................ .

(A) inessential (B) useless

(C) necessary (D) ordinary

. educate her........... family.
(A) part (B) some
(C) whole (D) incomplete

AT g Ta qaern
frafaiaa e # fau v fowedt § 9
TEARE (?) B M WX ST el R
P gFe—

41312 19
1 5111 |17
6 |52 ?
(A) 14 (B) 13
(€)9 (D) 10
. &R i H fhe iyt 87

(A)3 (B)4
©)5 (D)0
. U UG Hael Vb AEI—TE g1 g2l

TR, o 5 e 7§ 5 ve |
T o & | fasedi # R U Hw Wi
18RI & 2 ¥l gIR1 <RI ¢ E, S b
T U [ SR A B SRl B
3R U T w09 48 3R afrege-11
1 57 9| 3 STYE | Ve &R Bl Ueel
SaEIRIES G INEICRU IR BN (1
ST HehaTT & | S&TERUl & 7w “C* &1 01,
85 STf EIRT SRIRAT ST Wepell & <721 “U°
I 20, 97, S GIRT WA T Febel S
34T A%E ¥ euel YT § AU ¥
“GEEK” & félU 9§ P ygarl &—

2 | AGRAWAL =XAMCART

29.

30.

31.

3TeE-1 M-Il
of1[2[3[4][[5]6]7]8]9
o[Y[CWI[G[1] [5|X[K|D|[F|R
EM[O|Q[S]| [6|G[W|N[H|V
2[U[W][Y [BJA| [7[E[O[Y[T]T
3[F(H|G[L|N]| [8[C[F|T[L]E]"
4D[R|T[V[O]| [9|K[S [U[N|P

(A)32,01, 89,56 (B)03,89, 10,33
(C) 65, 10, 75,95 (D) 58,75, 59, 56

&) TS ST BT W S ST A
@1 ghe 5 yed sl Ak B—

(A) ®)

8
&

B SR PR W& BT B TRy
PRI FAT?

At
\H 9

© (D)

x>
X2

E

(A) ®)

EIN

— \

I T YT BT AB YW X XN T, <1

TR R ABRAT H H DA B
e M o |E wRfew ar?

|

© (D)

32.

33.

34.

3s.

36.

37.

38.

\%
(A) (B)
AN
©) (D)
AN
A v sl A fa@e SgER ST
Bl AISHY Ve I WieW & 915 98
e SR amafer S fars Sme
L A4
- O O
(A) O (B) O
O
O I:'I:I
© (D) 0
O O
ey T e § yeAfag (7) & v
X A1 I ?
1671373?218=94
(A) x, +qaUT —  (B)+, + QAT x
(C) +, -1 + (D) —, xqam +
I 7+14-2=17M9+27-3=19,dq—
3+39-13="
(A0 (B)1
(C)3 (D)9
Fforiaa ereal F7 ereadiel H 3 aTel
P B FYAR fered—
1. Racing 2. Rowing
3. Risking 4. Ranking
5. Rigging
(A) 41352 (B) 14352
(C) 14532 (D) 41532
fr=faRad v | faw v fawedt 9 @
T 3F T DHIfTg—
37,39,42,47,54,?
(A) 60 (B) 65
(C) 63 (D) 69

A U g o R B, R ¥ TS
9g g« | Ry T fawed F 9 98 w8
faed gy, 1 STged BT IRT HN—
MO, PR, SU, ?

(A) VW (B) WX

Q)WY (D) VX

Frferfad g | fQu U fawedi 4 9
v wrs= @1 gio—

(A) FEqH A1 (B) o

(C) = (D) =1



39.

40.

41.

42,

43.

44.

45.

46.

47.

frfaRad oo 7 fau v fowedl § 9

v < B g —
(A)25 (B) 125

(C) 625 (D) 15625
FfaRem o 7 Ay v Qe 7 9
fa oreri P gRT—

(A)KIJ (B) BA

(C) FC (D) ED

T o AT < A R T i S

HEE=4] Bl el U0 Rl §—

TR, IRIX & T, TSP

O
@D

(A) B)

© D)

onp

frafaiaa e # fau v fowedt § 9

THFET T P ghe—

bl Tefd (31P) : :urg ;P

(A) | (B) TR

(C) I (D) BT
FfaRem o 7 Ay v Qe 7 9
|qRIfgd T B ge—
81:729::121:?

(A) 968 (B) 144

(C) 1000 (D) 1331

frfaRad oo 7 fau v fowedl § 9
T &feRl B gig—
RTW : XZC ::ACF :?

(A) GHI (B) GHK

(C) GIL (D) JKL
Freforfia fiepet # & T8 T R S
Ru 10 o & e @ AT B T8
TR S bl 3—

FACSIMILE

(A) SMILE (B) MILES

(C) COME (D) FACE

AP T MY 56 I9 &1 4 T4 IE A
TAIBH Y 6: 7 3T H &I B
& qdHE Sy (It #) 9T 8P

(A) 64 (B) 60

(C) 66 (D) 58

TAI IR B AR 19 7%, A gorh ¥1 98
TR SR e & e 19 5. A iR =erh
B 98 a1 R gt ® qenm 19 f5. A
3R Fer &1 98 I IRfE g 9
g foam 91 %7
(A) TR
(C) Tfgror

(B) SR

(D) g

48.

A 3T U ueT A 8 HoF AR S
e I B W ARG B sy
2 v ¥, srenfes ST A S g
 PrTar & Fad ¥ 1w sy ud @R
o= el & b fau 1w @ fepy,
{27 U el & SMUR TR JfRT & 7
U :

I % 3d & ¥l

1. B I I

frepy

L g9 = Raem ¥

1. %o Raddm g |

(A) D fepd (1) 981 &

(B) aer frsmd (1) 8T &

(C) 3 & frepd wdr &

(D)= A1 frsy (1) 1 & foseed (11) il &

. TF faf¥ire s 9mr ¥, “LUNCH” &1

“QFMXS” forar <Ian &1 59 s |
H “TEARS” & fhs YR forar Sireem?

(A) HIZVH (B) GVZIH
(C) LHOVK (D) KTOQA
. TF fafdre ®rs @1 9, “PHONE” @l

“64321” g2 “ROLL” &7 “7355™ foran
ST ¥ 39 P A § “PRONE” &

forsg g foren wreem?
(A) 67321 (B) 45376
(C) 12376 (D) 67123

HAFT-111

51.

40 F gD RS b ¥ ?

(A) 6 (B)5

©)8 (D) 10
. 3009 390 T VI fraeil ¥l ¥, <01 5
qen 7 7 9 fAvforg B ¥ 7

(A)2 (B)3

(©) 4 (D)5
. Frafafiaa % 9 29 W1/9 o9 9
¥E?

L B>

i 7>

(A) &ae 1 (B) g 11

() 1Fm U= (D)FA LT A0
LR N=11-3 & @ (I/N) & A9

T ?
(A) (V3 -11)/2 (B) (V11-3)/8
(©) (11+43)/8 (D) (V11+8+3)

55.

56.

57.

58.

59.

60.

61.

62.

P& 9 79 & fow 225P9, 9 | qUR:
fawifore & 7

(A1 B)0

(©)3 (D)4

frfafad 4 9 F 91/4 FoF I
B/E7

L (N7 +9)> (V9 +6)

. (V7 =5)> (6 —/3)

(A) aa | (B) @aaT 11
©1dem IsFT (D)yIAITa U
<) UIgY L q J 3fdhel U <l Bl HE:
12 5 T 15 5 9 R 9o & | U8y P
I TH B ABAT 20 TS H @l TN
THal B | AR | ST Ul Bl g
et faar SR, @1 <t fbam B § W
SRAT ?

(A) 10 (B)15

(C)20 (D) 12

TF UY UF el FI 12 8¢ H A= FHall
B T B AaE W 3R B & PRI T
DA A 15 HE o &1 Al T g
B, @ 98 % <hl B foem v¢ |
W Y Ahel & 7

(A) 65 (B) 72

(C) 45 (D) 60

U T 6 SIS qA TS Bl S
3: 4 %1 I 3mad Bl IRET 140 ¥ B,
q e & AR (FEL ) FE ?
(A)30 (B) 50

(C)35 (D) 45

T qeg TR 10% B YE o B WEEN
30% 1 7 B B | IS avg o Sifd
o T 2730, A S9@ 59 97 R )
FE?

(A) 2000 (B) 1850

(C) 2100 (D) 1890

reprel fbell avg B 20% DI B W
WIS & T S IH BT 20% D AT
W <l | S Hed qun o qed
R IM 7 TR P WG §, B AL B

U FAT F ?
(A)27:31 (B)25:22
(C)24:23 (D) 25 : 24

U Al fbd srgura H % 12.30 i
. arel g @ T 16.70 wia .
qrel arael & | Fer aife fAsmr &
DT T 14.40 vfa fHur. & S 7

(A)8:7 (B)23:21
(C)3:4 D)1:7

TR | 3



63

64.

65.

66.

67.

68.

69.

70.

71.

B. ¥ 15000 &1 U5l /99 &b T
MR AR Il &1 6 98 & T
D, T 40000 91 &% 9 AOR 9 Ifde
B S R 199 P 3 W 98 5 ergue
AT e ?

(A)4:5 B)11:14
(€)33:16 (D)3 :4

9 HHRTT F AeTel o Sl 18 B 9
TS W W TN Vi) A B W ?
(A) 8 (B) 10

(©) 12 (D) 6

90 #iex Yarel 9aHY Udh fad #1 30

W} Ugiel & Py Yed & INER BN
AT | BT B URIET T ?

(A) 18.18 (B) 28.56
(C)33.33 (D) 22.22
A B P 20% D ¥ TR Th ST, a7 |

B CH 15% S @19 4R A&7 997 | i
CAN. & o T276 govrar &, A AT
foa @ ) F & . =i on ?

(A) 250 (B) 200

(C) 300 (D) 320

TF G B Use 10% TG I &
T R I 10% | Y TR oI
st # foer ufierd aRacd= genm & 2
(A)21% B Ihg  (B) 21% & H41
(C)20% 1 ghg (D) 19% I I
L, M ¥ 25% 3118 & | M, N9 20% &

TIN, 0¥ 25% a1fdrep ¥ 19 O, 800 %,
ALHITFE ?

(A) 1000 (B) 1200
(C) 1150 (D) 650
T 400 Hex o= YT, Th 800 Hex

T RIEWH IR HRAl B IS NS
@I IRT 60 fHH/Her ¥, T wiewH uR
B A B I (vt ) e 8 ?
(A) 80 (B)75

(C)72 (D)85

T 7 fo Jeer B I W U o R
ST & qen 3 fed v & Tl W s
e &1 Sadr g T (f Jeer #)
FE?

(A) 4.4 (B)y4.2
(C) 4.8 (D) 4
Teh 21 b ST H 8% P AP X

¥ gfg Bl s | A T ot A ST
58320%, <Y 2 ¥ U=l WEX P TRIEA]
1 9y ?
(A) 15000
(C) 50000

(B) 500000
(D) 180000

4 | AGRAWAL =XAMCART

e (we= 5 72 9 75 9%)

Ty fow 0 v o= § 99 2008 2014 6
HU A D I (BOIRT ) Bl gwiar ™ B—

450 7

400

380

1120

EL]

. 99 2008 § 99 2011 9% faght & gfowg
IRacH FT % ?
(A) 125 (B) 75
(C) 135 (D) 130

.9 2008 9 ¥ 2014 9% Iq A
RN A FE ?
(A) 276 (B) 280
(C) 286 (D) 278

. fre oot @ SRE R 320 IR 9
arferp o ?
(A)3 (B) 4
)5 (D)0

. TEY w9 o1 Rshl arer o qen geR
HH h! a1l 9 & AE 3R (BT H)
Y ?
(A) 280 (B) 150
(C) 260 (D) 200

76.

AT SITHGBRI
ferferfad 3 9 f &5l 3 B haaiRe
UfpaTY e BRI Bl ¥?

(A) SRS &

(B) SIfed &

(C) | T SETSa QT &
(D) 71 <1 |feq e 7 SrTfed &

. e # Q= wd w7

(A) S &1 3T = SuRHaTRN | forar T
AT + STHIGTST I fear T =t
(B) S 1 31T =SuRGHarRN | forar
=S x SRRl @1 faar /™r s
(C) T 1 31T =SuRBHaT3N | forar
TS + STHTBATST I faar T =St
(D) S I T = SR 3 forar T
T — STHIRare B & T =t

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

. WIRT B I G H G foba Fa 87

(A) 245 (B) 275
(C) 258 (D) 260
AR |G B A AR GNP
(A) 26 TR 1949
(B) 26 SR 1950
(C) 15 3T 1950
(D) 15 3T 1949
R & og 579 gg A S s s
7 MRax®R faorg wrey & &?
(A) TeeTl 3AFei-eY I
(B) T TR I&
(C) T ey I
(D) agel Sfei—HeY I
YT Horel BRI 3THER & L & SIe
P fp Ries foredy 718 &7
(A) 1 (B) 2
©) 3 (D) 4
e o fam fife—
& aae R
(a) ST & 1. He9H T9HH
(b) AFEIATST &5 2. 3AfE B
(c) CeT & 3. Seg A
(A) A-2, B-1, C-3 (B) A-1, B-3, C-2
(C) A-3,B-1, C-2 (D) A-3, B-2, C-1

TF G H AR YIS BT FT Fal
ST &7

(A) TSR (B) 91X

(C) T J@e (D) HaTT
SIERIId SHoll WRUT & foTg siféreprer
SR §RT SRR ST Bl
(A) faarfas (B) o<1

(C) Sreivgier (D) a1
BITTRFGRE THICS........... |

(A) TSI & BH BT &
(B) dTSIIo &% G &

(C) A B AR ®

(D) Ta99 HF Bl &

faga sfesal frd 7 & wwIfeea &7
(A) TS (B) THdr

(C) TTfErT (D) Racw
TMIH D T SHAT &
(A) T (B) §&

(C) @xU (D) i

(A) 028 BT (B) 54 dar

(C) 0.24 A (D) 42 B
YR &l Afesl FReauT R g &7
(A) fa= (B) ITH

(C) vaTE a1e (D) feom==



90. fFferRaa & & fpe et @1 el @

91.

92.

93.

94.

95.

96.

97.

98.

99.

TST el I &7

(A) FEITS e (B) BIORA 3
(C) TRfe® et (D) WeRIRSP oA
frafeaRag & 9 frae 9wl 9 999
IS T B &7

(A) MY

(B) STEER

(C) smz™IeH

(D) |9 fddey wér &

frfafad # & @M e aRRerfrdt
T B HUY B\ IR 27

(A) wefaat (B) <&

(C) Frara (D) el
frfaRed # 9§ SF—w1 e il
@ forg wdifeE Tga ura e & fog
el ifiE w7

(A) e RarT gard Ao
(B) & 3 AHIS B BT

(C) G 9IRS

(D) T famem fer Jard
R IR A @ e AP

(A) 3R EWBIE (B) 9N 3. Aleh
(C) RES 2o (D) Bl oI
fFrfaRad # 9 @ SeficT ¥ awIfed
77

(A) &R, T, IR, (B) forgsx U9

(C) THRT YIgPIT (D) STHUIet <707
AR el e & P ............
S E o

(A) WY

(B) ¢

(C) g9_R A TR

(D) ¥TrEe

RN 91 6T 98 D41 oI o, foreas
wa ¥ gemen A fadm dg S @
SRS T 7137, B9 “BIa0l’ & A |
A ST I & P

(A) RrgamT (B) WreTeis

(C) wfxaem (D) 3 9§ @IS &
IR SATE DI TS YD D gD
P E?

(A) ST Wil (B) 9aoia ¥

(C) frRor 91 (D) ar. 91, fiRk
TR & TIEHNEG A 7749 § 9§
PIFT—NT HIST ST & 2

(A) IR Afers Fderr

(B) IR HI&T07 a4

(C) WA =i wderm

(D) YRR qRIATRas Hderu

100.

ARG iR Ifhed & 9ra g S 6fer
B HeFwer fHam &1 P

(A) faea ¥«

(B) SRR H5T 1Y

(C) favg =R e

(D) fowg WRey He |

. (A) clear (v) & TI9 W clears BT TANT

B

2. (B) in & &9 UX on P WANT BT |
3. (A) for &1 YA ST ¥, i IE proper

10.

. (B

preposition ¥

. (C) Helping verb ‘was” &l T 3 3,

I singular subject ‘Japan’ & |1
singular verb T T R |

. (D) “Tempest’ (T®T) & 1T same word

‘storm” (ST/TPT) T TRANT e B
31 fapedl & Trea—oref d—
calm—znf~</enf~ 11'\01‘
quiet—ga@Td /A

stillness—Rerar /<

‘vintage” (YRM/YRT) P AT same

word classic—(UTdM Hre—awa=4)
BT AT S T

o fadpedl & erea—aref E—
Inferior—f BIfe &1
Minor—q=8
Fresh—141/dT11

~—~

. (D) “Tinsel’ (T9&/frafha) & fay

same word—Garnish—(J5l1 9.
TP B YART SR Bl
3 ool & erea—aref B—
Plain—<7adt /A=
Simple—%el / 3R /41T
Unflashy—3Ruse

(D) ‘Defuse’ (ATHM HIAT/AT BRI
@ opposite word Agitate—(SIfoTd
B B
31 fapedl & wrea—aref d—
Disarm—a9 ¥ &% o-1/sRR B9
K&l
Diminish—&# FRAT/EeH/Bel ST
Lessen—&+ /=

(A) ‘Thwart’—(fawet /A1) T opposite
word Assist—(TEIdT B) ¥ |
31 fapedl & wrea—aref d—
Linder—Ia&
Check—SITa =T/
Confuse—9f1d/ A=A

(A) “Copious’ (Fg=/3ifere #m=m #) 1
opposite word—scarce—(@/SI) ¥l

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

3 el & wes—arel §—
Abundant—9g= H31 H, HIHI
Ample-7ar
Plenty—4g/dgarad

(A) “Hit the Jackpot’&l dIcqd & SR
H® Tl |
31 To find exactly what was sought
[EEZSIGEIRS

(C) *To bring to light’ T T &, SRR
HRAT /B | /GBS BT |
31 To reveal fdded wdl ¥

(C) From whom & ¥ WX for whom
E2R iU E

(B) ‘Hard” & ¥4 WX Adverb ‘hardly’
P1 7AT SR B

(B) ‘Literary theft” & qe0 il
Y, o« e fav S wres
‘plagiarism’ &

(B) ‘Spokesman’ &1 Aqd F—yaa,
gffAfer | e 14T 7T word group &
g |a fawey 5|

(C) “Horizontal’— &l & spelling & |

(A) ‘Inconvenience’ SgfAeTe Tl
spelling%l

(C) “QPR’ W&l sequence |

(A) ‘QPR’ ®& sequence%l

(A) Isolated T YAFT F& &1 Should not
be & 12l TMIrd form & FANT BT |

(B) Socio—Economic & FAFT S ¥
@1 o7ef & AHTTE—aTfie |

(B) Comparative degree ‘faster’ &1 JIT
e B

(C) necessary * AP’ ST B TA
S 81

(C) Whole—q%1 372if whole family—(q¥
IRIR BI) B TET T B

(B) TR,
w1 4+3+42=9
H2H 1+5+11=17
HA3H  6+5+2=13
;13 e A1 WR S |

(B) A T Pl A By Fraq g

. AABC
TqAqT AADC
qegr AADE
qgr ADEC

A B

A

C
mPa@%rﬁ%w%raa%
R | 5




28. (C) Y9,
fideg (A)F,32 01 89 56
G C E K
fdwey (B)w, 03 89 10 33
oy
fadeg (O)9,65 10 75 95
G E E K
fawew (D) ¥, 58 15 Sf Sf
F E R K
31 fawey (C) |8l ¥
29. (C) faweT (C)F & 718 U a1l FfdT B
o famed (C) 98 ¥
30. (D) fa®eq (D) &1 TR PRI T BT
& YRey B QR B

31. (D) 9l U% IUUT B AB I@T UX I
WY, 9 fd®wes (D) & SEa wed
MHlT B T R ¥ |
32. (D) & T8 YA MG A 3@ argaR
BT Pl ASHY Ba 91 el &
& O et fawg & | 98 fadeq
(D) BT
33. (B) WIgHER, WHIBRUI
16713737218=94
g 98
16 +13+3x18=94
= 16+13x6=94
= 16 +78 =94
= 94 =94
a1 fawe (B) w8 fdweg |
7Tx2 9x%x3
7 b7 T
13x3
T YR, 39 =1
35. (C) TE—IY & IAFAR FA
= Bl
(1) Racing —
(2)Ranking —
(3)Rigging  —
(4) Risking —
(5) Rowing  —
3T H 14532 BT |
36. (B) YIER, &1 &l
37 39 42 47 54

34. (B) o/ UaR,

N W b

T BP9 TR B |
3T 65 TF I HEAT 2 |
6 | AGRAWAL =XAMCART

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

(D) TETIER & T srH
M O;P R;S U.[N X

A
13 15 16 18 19 21 22 24
SN
T VX He fawed Bl

(D) & B Brgdx 3 A fpaw ¥

T B Ueh ANING 3T & |

(BYweTd, 25 125 625 15625
52 252 1252

I 125 B Bred A I I
|

(C) fawedl &
K JIB AF CE D
L_+L_ 41 +L_+

-1 -1 -3 -1
3 FC 370 9 =1 © |
(A) T 9, TR, URAR & 95 J20 9ASH
H FEg—

IRAR
&
RieE]

3d: TP, IRAR D TG —aAIT
3R AeP—Ig ()
. STl 3O H BIS T T8l &l
-, faew (A) T B
(A) 59 YR ‘olls’ Th A%l &, S
PR, | TP o1 © |
(D) 9eT ¥,
81 : 729::121: [1331]
Vool
92 9 117 1
3T e e 1331 % |
(C) 7 9 % T 7o,
R T W:X 7 C
N AAAANANAS
+2 43+l +2 43
S9! UBR,
A C F [T 1]
A AANAAN
+2 +3 +1 +2 +3
I GIL Tfed 318 ¥l
(C) fdwed ¥ COME s FACSIMILE
& ST ST e |
-+ COME® Ol f% FACSIMILE
& B
31d: COME 98 fasey ¥ |
(C) U |, A IIHM ST = 56 a9

3

AT B &l G0HM 31 = x 99

T, Y ¥,
56+4 6
x+4 B ;
= 60 x 7=6x+24
~ 420-24
= X= 6
X=6675
47. (D) W= ¥, S @ Rerfa
Skl

.
3T € U SIRMEND A A
femm % %1

48. (B) YTIgER 9 IR faq &

(20
()

31d: el frsHy 11 SRV IRl & |
49. (B) 591 TR,

[P—6] ohe



N-—2
E—1

T fideT (A) T ¥ |

51. (C) 40 % &% JUIEvS = 1, 2, 4, 3,
8, 10, 20, 40
A 40 & EARAG qUAEUS] B
= = § BT

52, (B) 5T 7&H LCM. =5 % 7=35
9 3009 390TF B 99 H 359
fawfora 2 arell Tgell 3l SRy
I = 315 3R 385
< a=315,d=353R a,=385
3 a,=a+n-1)d
=  385=315+(n—1)35
=  385=315+351-35
= 105=35n
S n=3
&: 5 @8R 79 fawfea W aren
| 3

53. B) L9 H3>Y7 =3)“> ()16

:(3)3/]2>(7)2/12

= 727> %49
(g T8 ®)
ILY 375801 =7'3>1116
=726 > 111/6
:J77>§/ﬁ
= {49 > {11 (¥ ®)
54. (C) TeIIER,
N=J11-43
1 1
N V-3
VIT+43 &1 SR = o1 A
LR
1 N1+3
= N 11-3
ii\/ﬁ+\/§
= N 3

55. (B) W1 225P9 ¥ fdded &1 A9 TEHR
AR S W, Bael P=0 3@ W &
Ui AW B 1P =1, 3, 4T )
9N BT 1, 3, 4 UTT BT B

o [P=0] & w8 faebey ¥

56. (A) 1. N7 +v9>9+6
2 AT> V6 (STEa®)
1L 7 =5 =2.645-2.236
=0.409
J6 —3=2.449-1.732=0.717

& 7 - 5% V6 -3
I faded (A) 98 B

57. (A) T TS & UF HUS B B FHAEn:
11 1

= —>

12715 20

3w &, A1 U8y U 1 WreA
v

_r.or 1

12 15 20

_5+4-3

T 60

_6 1

T 60 10

o T Y = 10 "o |
58. (D) UlgY BT 1 5o # 97 fog & W}

HIT

_ 1

12
Uy gRT 1 e § fog 9fRkd ww
HIT

1
5
39 fog gR1 1 "9 § el e
T |
1 1 1
1215 60
Id: 5% o EH @Rl PR § e
T = 60 HUC
59. (A) Sgd B GRHE
= IR} AT3H BT AT
o 2 (EE + AISE) = 140
IRy oS + dISTg = 70
PES
g ;g =31 4
70x3

drers = ; =30 94

60. (D) FFT ¥ T 30% &9 o1 & 91§
q7 =% 130
AT 10% B ¥ T4 9% 61 A I
=Ix

= 9x = 1300

x=144.44

TG T 144.44 Sifrd e &, O B

A= 100

< 2730 Sif5d Y &, T I qA

100 x 2730
144.44

61. (D) AT a%] I 3ffbd e =% 100

T SHET 5 20% B T @RI

=% 1890

100 x 80 s
= Tlo0 380

AR M BT 20% A9 TR I

_ 80x120

= 700 =396

31T: 3ifd e : X BT Y YA
=100:96
=25:24
62. (B) TEVRR,
1230 P

N

1440 P

PN

230 210

1670 P

31T SIgUTd = 230 : 210
=23:21
63. (D) B & @R H 12 A1E & forg fwar
= 15000 x 12 = 180000
D® AR H 678 B fore e
=40000 x 6 =240000
I ATH A SIS
= 180000 : 240000
=3:4
64. (B) AT 9 HANRT |H H&AY
=x,x+2,x+4,x+6,x+8, x+10,
x+12, x+ 14, x+ 16

x+x+2+x+4
+x+6+x+8
+x+10+x+12
+x+14+x+16

3d: 18
9

= I9x+72=162

= 9x =90

: x=10

%:W‘a‘l@fﬁ@nx:m%
65. (C) 90 Tiex UgieT J9aY &
= 30 e} Uge
30
g]ﬁ%=%><100

R | 7



100
T =33.33%

66. (B) AIFT AW <. Y. 39 a1 =3 100
20% M9 T B @ 941

7100><1207?
100

T B 15% &9 IR C &l 921

120

_120x115 s
=00 "%138
e gm s I
=% 100
A9 276 T A A T4
~ 100x 276 2
= Tg <200
67. (A) AT U |H&T = 100 3
T ¥,
100 x 110
D = =
10% SgM T 100 110
3 gA: 10% FgFT TR
110 x 110
= =121

100
39 yfererd gfg = 121 - 100 = 21%
68. (A)N, O ¥ 25% 31 &
800 x 125
~ 0 !
M. NS 20%P7 &

000

= oo 800

g L, M 25% 3Hfdrep &
 800x125
- oo~ looo

&a: L&l 919 1000 |
69. (C) FoT A = 400 Wex + 800 AR
= 1200 AX
Tret = 60 fER

_60x5
T 18

Hex /AFrs

=53—°mz-\r/w@

_ 120500><3 o e
70. (B) W9 9,
7 7 R 3T L.CM. =21 &A1
T A =21+21 =42 50

FA I =3 +7=1080C

8 | AGRAWAL =XAMCART

42
=10 —A2fE
71. (C) S 99 Usel ST A AT

58320
2
1+ 100)
100
58320 x 10000
108 x 108

=35 % 10000
= 50000

72. (A) 2008 T2 2011 {35 b 7 e
=270 - 120
=150

150
. Jfcrerd aRadH = Ex100=125

73. (D)Gﬁﬂﬂﬁ’sﬁ=%w

120 +180+ 216 + 270
+ 400+ 380 + 380

74. (A) YN,

=2012F 400891, 2013 7 380 &R,
2014 7 380 TR
oo g 3au H e 320 BOR 9
arferes o |

75. (C) SUX1 WY Sf¥D foepl B aren
¥ =2013 SR 2014 T G BA
Rt BT arer a9 = 2008
3d: =AY =380 — 120 =260

76. (B) WA & # g© MuaiRes yfhard
BRIl & e Bk &1 o —
T YSEH, BITON HRIAE TS |

77. (D) ¥% & o F G I SIR &
TR YSil & STl Ud STH1 b TR gl
TR R T =T BT SR B B

78. (A) ART & A5G H 245 WG B
12 99 Teufd gRI #9ME f
ST ¥, 39 el B D 6
Y BT BT B |

79. (B) WIRG & WRYF 26 T 1949 @
IR IR 3T, oY 79 A wfders
[ B 239 11 981 g9 18 fod &t

80.

81.

82.
83.

84.

85.

86.

87.

88.

89.

90.

91.

G o | 9 QO S ¥ 26 S A
1950 3 FFq0T RA A N fomam |

(D) e SMA-A9R g 9 1798-99 |
oY g IR 3% s o &
Y gall | Fe MR e gg
o1, ¥ Y geam B 9 & T
Td YR TR ST BT STIBIR B 7T |

(C) 3gA-Bold BRI STHaX & TMHA
3N (e/paR -7 ) & AW e
T Y <, 9 Tl Y amfRreINGy
A BRAT H foran T e

(©)
(C) T &1 § wafRerd qerel @ ydd
SR T IITHTAT Bl STl & |
(B) E@IfA® ol ATSRO & ford
ST AR T BT ATSRIT B
¥ 991 fomRia uRfkafaal # st &
o SFa”l @ TR gIRT Ygad &l
ST

(A) B REGRF THICS Th HhHal
S Ui &, S el F e
P TR B HH B B o WY
fomar e B

(D) RegH I &l 3Mell dges g aH
RA3TER & T | N W7 I & |
T I faerf®= D & 9 | B B
I 9] ol Bl fagd wa Fen
RESISIES

(A) 7RI TG ST B 3PS A BRA g,
ST P e FHUS A A ¥
1 Aex kI AH0S ¥ |

(C) TP & = 0.000239 fhaAr Heary
I 1T = 0.239 Bark

I 1S = 0.24 A

(C) TeRer @1\ F=euur yars 9
R e e # |

(D) 9ergRe TRTS Bl 39D ATS
Srenfies SuAfiar, wed el v
HET 8 & HRUT 37 1ol AT AT
BT ST FHE AT S| THBT HIH
AETqU] SUANT SR e H &

(A) Iz & w9 Fe= # @A
MRS U IR 9§, $9d
gESIoM S9N Ul & WY W B,
9D O BT G HRA B |




92. (B) wia® weiy wiRRerfaa ad &1
S fowd g9 B

93. (A) ¥ U faPer gaard Arer
(2003 ¥ wenfea) g1 e
TR 1 HGHIHE Tgd Tl S
F ford ve g S

94, (B) S99 TSdS Wledh UH SRS
3y Jenfre o, RrR | 1955
A Difery & I B @ A

95. (C) YPTRT UGHITT UH qYd AR
Jefue Reerrs €, i 9 1980 %
fowg &1 7% 1 Raars &1 ¥ fiel
o1 | 301 |1et 38 sifel giervs i
JSfiued IFgEARY SiRT iR U
PR ATeT TBel WIRA S |

96. (C) HERT Sl [derrerd 4§ gax, &1, gl
9 AT W SEHRE gRNeER A
ool TR SR Y E |

97. (B) &% 991 & IR WIoT AANTERIE
T IS AT YA 1 412 3.
T H BT 3R RIGANT 27 H o=
BT | RIFAT F1 Iafed
HIARNEG AT HIHAU (394-366 S.
q.) g AN HT Ivid
feeamae@ # f@ar T ¥ Riged
eIl B IR A §§ P
TERfFEfT & e 9 99 9%
PICTRID & AP H 383 § 7,
# Jureh # g dg w0 @
A T T3 o

98. (D) a199 30 HITH & ogd IRT &
Td Irsgufy a1 41 fRy 9

99, (B) \RT H HRAY wderoy fawrr (wd
3 Sf3AT) B TG 1767 3. H B
T 9 3 [ = ey aifia
IR H TP DBl GIoEH BT
e b1 AEFE FRAT § | SO
& AR S B FHAT B BICHTH
(Cartography) &&d &1

100. (A) 9T IR TifereT & 917 Ry 5
iY@ wegeerdl ¥ 1960 9 fawa
¥ BT B T

aa
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